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o es of approximate building methods: /o
Carpet area — 60 ‘sqmt, Wall area — 10.93%, Cost of COI’!Stl’UCUO(‘]»-‘Of buﬂdmg ¥ 10,00,000,

Parapet wall height — 0 S\m ters (06 Marks)
Determine cost per sq. mt" by pur\th Area method. QY ™ (07 Marks)
Determine cost per cumt by: \fql_ume rate method (5 ) (07 Marks)

_OR

where necessary also. )
Laying 600x 600 mm vitrified ﬁle oit CM'I 26 bed (08 Marks)

Pointing in CM 1 : 1 over exposed brick masonry (06 Marks)

Excavation for foundation trenches. . <, (06 Marks)
Module2

Refer Fig. Q3. Using short wall- long wail method,

Calculate Net center line with caiculz‘tmn details. S (08 Marks)

Calculate the quantity of earthwork in excavations ‘Cor foundation. (04 Marks)

Calculate the quantity PCC 1 4 "8 for foundation. . (04 Marks)

Calculate the quantity of DP”‘ (04 Marks)

SV OR

Refer Fig. Q3. Using shot w’ ll-long wall method,

Calculate Quantity of’ SHM inCM1:6. (10 Marks)

Calculate Quantity, _2‘00 mm thick solid block wall. (10 Marks)

. ' Module-3 :

Write briefly orescalation clause in the condition of contract. Aico write the formula to

calculate the ¢ost variation in material and cost variation on labour. (08 Marks)

Write brleﬂy on basic price. “ (06 Marks)

Basic price, of reinforcement steel is indicated in the tender as % 50 00@ per MT and the
quantity, of Reinforcement steel is 10 MT. If the purchase price at the end of he project is
% 48 000 per MT. Write if the client is obligated to receive from the contra¢tor-ar pay the
,(06 Marks)

OR

of rates]

12 mm thick cement plaster in CM 1 : 4. (07 Marks)

Random rubble masonry in CM 1 : 6. (07 Marks)
..300%300mm plain ceramic tile flooring in CM 1 : 3. (06 Marks)
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’Retcr Fig. Q7 & T ng Q8, calculate Reinforcement steel quantity of RCC co lu

_, 'ﬁMeqsurement book.
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Module-4 -
.nn “from the

data D?/ 8 as below. * (20 Marks)

! OR N
Q’* / Fig. 8, calculate the quantities of RCC roof slab, RCC wlumn and RCC roof
beam membPr from the data D —7/8 as below.
D — 7/8 Fol owmg are the data:
o Size of’ ;o mmn 200x 600 mm, number of columns are — 44
o Height of'uo umn from top of footing to bottom of roof; hedm is 4 mt.
® Size of RCC: roof slab is 3000 x 5000 mm and 125 mni thtck

o Size of RCC rcgofbeam connecting the 4 columns is EOGx 300 mm.
Depth of beam exciudmg thickness of slab. 0y

— 3 N@s> of 12 mm dla

Stirrups 8 mm dia at spacing 150.fum C/C
2 L

Assume 163 to derive weight of all’ ba#{,’ B k

Ser mt, where d is the dia of the bar in mm or

7850 kg per cumt as density. ‘ | (20 Marks)

Refer Fig. Q9 X
Calculate the cost of water per htre‘fm underground sump tank. Consider the following item
of work to be executed, whose r ,_‘e;ls given to caltu;aic the cost of water per litre. (Do not
consider the cost of remforcement steel. Consider 1(cut it..as 1000 Itr of water)

Earthwork in excavation mc‘ud‘mg back filling @ 600 per:c

PCC 1:3:6bed @ 4500t pet cumt. <
M20 RCC floor slab @ /(}00 per cumt.
M20 RCC side walls (@ 12000 per cumt.
M20 RCC covermg slab @ 10500 per cumt.

Define tlr'e fo 'Iowmg
Certifi éate of virtual completion.
L1qu1dara&’damages

RA bilt.and Final bill.

Paymeint certificate.
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